PI.	ANT	ENTER	PRISES	PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				18,363	cords	
Hardwood				22,440	cords	
Pulpwood (Total)				40,803		
Chip & Saw				2,318	cords	
Saw Timber						
Pine				5,338,351	board feet	
Hardwood				1,578,255	board feet	
Saw Timber (Total)				6,916,606		
Total Pulpwood, Chip & Saw,	,					\$6,204,318
Saw Timber FOB Mill						
Total Forestry Stumpage						\$3,287,092
Christmas Trees	*			400	trees	\$16,000
Forestry (Total)						\$6,220,318
FRUITS						
Peaches	*	10.0	150.00	1,500	bu.	\$45,000
Fruits (Total)		10.0				\$45,000
FEED GRAINS						
Corn	*	962.0	110.00	105,820	bu.	\$242,328
Grain Sorghum	*	2,079.0	50.00	103,950	cwt.	\$415,800
Feed Grains (Total)		3,041.0				\$658,128
GREENHOUSE VEGETABLE	ES					
Tomatoes	*	5,760.0	4.50 Yield /	sq. ft. 25,920	lbs.	\$34,992
Greenhouse Vegetables (Total)		5,760.0				\$34,992
HAY FOR SALE		•				
Grass	45	6,000.0	2.50	15,000	tons	\$750,000
Hay for Sale (Total)		6,000.0				\$750,000
						Page 1 of 6

### PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HOME GARDENS	600					\$180,000
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$250,000
Plants						
Woody Ornamentals	*				acre	\$25,000
Foliage Plants	*				acre	\$25,000
Nursery Crops (Total)						\$300,000
RICE	450	76,216.0	73.00	5,563,768	cwt.	\$30,878,912
SOYBEANS	250	18,274.0	27.00	493,398	bu.	\$3,281,097
SUGARCANE						
Raw Sugar	*	4,453.0	5,000.00	22,265,000	lbs.	\$2,716,330
Molasses		4,453.0	150.00	667,950	gal.	\$96,853
Sugarcane (Total)		4,453.0				\$2,813,183
SWEET POTATOES						
Canning				84,480		\$168,960
Fresh				253,440		\$4,561,920
Sweet Potatoes (Total)	6	1,056.0	320.00	337,920	bu. (50 lbs.)	\$4,730,880
WHEAT	10	591.0	40.00	23,640	bu.	\$76,121
TOTAL ALL PLANT ENTI	ERPRISES					\$49,968,630

### FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE Crawfish (Farm)	275	35,000 Acres in Prod.	17,500,000	lbs	\$11,375,000
Catfish (Farm) Alligators (Farm)	*	350 Acres in Prod.	1,500,000 1,500,000 10,034	lbs.	\$855,000 \$170,590

### FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
Aquaculture (Total)						\$12,400,590
FRESHWATER FISHERIES						
Catfish (Wild)	10			15,000	lbs.	\$7,005
Buffalo	*			500	lbs.	\$77
Gar	*			650	lbs	\$599
Freshwater Fisheries (Total)						\$7,681
FUR ANIMALS				681	pelts	\$3,609
ALLIGATORS (WILD)				30	_	\$660
HUNTING LEASES	50	25,000	No. Acres		acre	\$137,500
		,	Leased			ŕ
HONEY	*	2,000	No. Hives	200,000	lbs.	\$270,000
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES	,				\$12,820,041

### ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			750	head	\$272,528
400-500 lbs.			700	head	\$292,604
500-600 lbs.			350	head	\$160,815
600-700 lbs.			200	head	\$104,000
Steer Calves (Total)					\$829,946
Heifer Calves					
300-400 lbs.			750	head	\$240,083
400-500 lbs.			700	head	\$263,876
500-600 lbs.				head	\$149,072

#### ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
600-700 lbs.			200	head	\$97,500
Heifer Calves (Total)					\$750,530
Yearling Cattle					
600-700 lbs.			500	head	\$260,000
700-800 lbs.			300	head	\$168,750
Yearling Cattle (Total)					\$428,750
Cow-Calf Pairs			1,300	pair	\$936,000
Cull Cows			500	head	\$165,113
Cull Bulls			100	head	\$73,050
Cattle & Calves (Total)	150	7,000 No. Cows			\$3,183,388
HORSES					
Brood Mares					
Race Horses	7	25 No. Brood Mares	23	head	\$138,000
Show Horses	90	100 No. Brood Mares	45	head	\$135,000
Recreation Horses	300	2,500 No. Brood Mares	700	head	\$1,050,000
Brood Mares (Total)					\$1,323,000
Stud Fees					
Race Horses	10	8 No. Stallions	350	mares bred	\$875,000
Show Horses		17 No. Stallions	765	mares bred	\$1,147,500
Recreation Horses		25 No. Stallions	125	mares bred	\$12,500
Stud Fees (Total)					\$2,035,000
Race Horses	12		35	head	\$350,000
Show Horses	25		45	head	\$180,000
Recreation Horses	300		450	head	\$450,000
Horses (Total)					\$4,338,000
POULTRY					
Broilers	20		2,000	lbs.	\$1,220

Page 4 of 6

#### ANIMAL ENTERPRISES PRODUCTION

	ANIMA	AL ENTERPRISES	S PRODUCTI	<u>ON</u>		
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
POULTRY						
Edible Eggs	250	1,200	No. Hens	1,000	doz. eggs sold	\$840
Cull Hens				700	lbs.	\$105
Breeder Flocks	20	250	No. Birds	2,000	doz. hatching eggs sold	\$760
Poultry (Total)						\$2,925
RABBITS						
Fryers	10	700	No. Animals	2,000	lbs.	\$1,600
Does	10	600	No. Animals	2,000	lbs.	\$30,000
Rabbits (Total)						\$31,600
SHEEP						
Wool		1,000	No. Sheared	8,000	cwt.	\$1,280
Slaughter Lambs				600	head	\$58,875
Feeder Lambs				250	head	\$16,125
Show Lambs				125	head	\$34,375
Stocker Sheep				100	head	\$4,750
Cull Sheep				350	head	\$12,250
Sheep (Total)	85	850	No.Breeding Ewes			\$127,655
GOATS						
Show Goats					head	\$4,500
Slaughter Goats					head	\$3,400
Stocker Goats					head	\$2,600
Cull Goats				40	head	\$1,680
Goats (Total) SWINE	12	80	No. Does			\$12,180
Show Pigs					head	\$60,000
Feeder Pigs				350	head	\$6,300

# ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Slaughter Hogs			100	head	\$12,350
Culls			100	head	\$11,000
Swine (Total)	10	50 No. Sows			\$89,650
TOTAL ALL ANIMA	AL ENTERPRISES				\$7,785,398
<b>ACADIA PARISH</b>	TOTAL				\$70,574,069